
1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

Child Side Impact Sled Complete Assembly.iam 2921-Cover_Dec 2013.idw

Parts List and Drawings

CHILD SIDE IMPACT SLED

VEHICLE RESEARCH and TEST CENTER

NATIONAL HIGHWAY TRAFFIC SAFETY ADMINISTRATION

December 2013

Sheet Size: A2



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0 2921-000
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

CHILD SIDE IMPACT SLED
COMPLETE ASS'Y.

0.25:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENG

Dave Walker 10/29/2013

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
X     ±.5    ±.5
X.X   ±.2
X.XX  ±.1
X.XXX ±.01

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

1.6

VEHICLE RESEARCH
and TEST CENTER

CHILD SIDE IMPACT SLED ASS'Y.2921-00111
DESCRIPTIONPART NUMBERQTYITEM

Child Side Impact Sled Complete Assembly.iam

10.0°

OF SUB FRAME

OF IMPACT SLED

REARWARD OF DIRECTION
OF FORCE/IMPACT

SUBFRAME (REF.)

1

OF IMPACT SLED

OF SUB FRAME



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0 2921-001 C
SIZE

SHEET

DRAWING NUMBER REV

2 1 

CHILD SIDE IMPACT SLED
CHILD SIDE IMPACT SLED ASS'Y.

0.25:1
SCALE:

APPROVALS
DRAWN

DESIGNER

ENGINEER

Dave Walker 11/26/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OFAPPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
   X ±1     ±.5
 .XX ±.5
.XXX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

CHECKED
Mike Vanvoorhis 11/26/2012

 

 

SCREW, SHCS 1/2-13 x 1 1/4"9000496V621
SCREW, SHCS M12-1.75 x 205000440V2220
SCREW, SHCS M8-1.25 x 3050003721619
NUT, HEX 5/8-119001385V1018
WASHER, SPRING LOCK 5/8"9000122V1017
BOLT, HEX HD. 5/8-11 X 1 3/4"9000607V216
BOLT, HEX HD. 5/8-11 x 1 1/2"9000606V815
SCREW, SHCS 1/2-13 x 1"9000495V3013
SCREW, SHCS 3/8-24 x 1/29000749V112
LIGHT TRAP SENSOR3000200V111
LIGHT TRAP MOUNT ASSEMBLY2921-700110
HONEYCOMB2921-60019
IMPACTOR DOOR FOAM ASS'Y.2921-50018
RIGHT SIDE BUMPER ASSEMBLY2921-42017
LEFT SIDE BUMPER ASSEMBLY2921-41016
ANTI-REBOUND FIXTURE ASS'Y.2921-40015
BENCH ASSEMBLY2921-30014
LINEAR RAIL ASS'Y.2921-25023
IMPACTOR FRAME & STOP ASS'Y.2921-20012
BASE PLATE2921-10011

DESCRIPTIONPART NUMBERQTYITEM

A A

Sled_Buck_Assembly.iam

SEE SHT. 2

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A REPLACED GEAR RATCHET SYSTEM WITH RACK 
RATCHET SYSTEM & ADDED SHT. 2 4/16/2012 DW

 B REPLACED RACK RATCHET SYSTEM WITH 
ANTI-REBOUND SYSTEM 12/18/2012 DW

 C DRAWING NUMBER WAS 2921-000 10/29/2013 DW

2

3

4

8

11

9

10

161718

19



 PLAN VIEW A -A 

FROM SHEET 1

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0

2921-001

C

SIZE

SHEET

DRAWING NUMBER REV

2 

2 

CHILD SIDE IMPACT SLED

CHILD SIDE IMPACT SLED ASS'Y.

0.25:1

SCALE:

APPROVALS

DRAWN

DESIGNER

ENGINEER

Dave Walker

11/26/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

   X ±1     ±.5 
 .XX ±.5

.XXX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

CHECKED

Mike Vanvoorhis

11/26/2012

 

 

1

5

6

7

21

13

20

12

151718



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0 2921-100 B
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

BASE PLATE

0.25:1
SCALE:

APPROVALS
DRAWN

DESIGNER

CHECKED

Dave Walker 11/19/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF

ENGINEER

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:
    X ±1    ±.5
  X.X ±.5
 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel

VEHICLE RESEARCH
and TEST CENTER

APPROVED

Mike Vanvoorhis 11/19/2012

 

 

VRTC_Base_Plate.ipt

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

F10, G4 A REMOVED HOLES D1 THRU D5, ADDED HOLES G1 
THRU G11 2/10/2012 DW

F13 B ADDED HOLES FOR ANTI-REBOUND FIXTURE, 
REDRAWN 11/19/2012 DW

B

D19 D20

D15

D21

D10

D5 D6 D7 D8 D9

D11

D12

D13

D18D17

D14

D16

D4

D2

D3

D1

D22

C36C35

C27C26C24C23C22

C16C15C14

C7C6C5

C12 C18C17

C31 C32 C33

C25

C34

C21C19

C28

C20

C29 C30

C13

C4C3

C11

C2

C10

C1 C9C8

A35

A47 A48

A36

A12

A24A23

A11A10

A21 A22

A39

A27 A28

A40

A29

A41

A25

A37 A38

A26

A18

A6

A17

A5

A16

A4

A15

A3

A14

A2

A13

A1 A9

A20

A8

A19

A7

A33

A45

A34
A32

A44

A31

A43

A30

A42

B1

B2

B3B4 B5

B6 B7B8

E1 E2

Hole Table
HOLE XDIM YDIM DESCRIPTION

A1 146.1 38.1 17.5 THRU
A2 298.5 38.1 17.5 THRU
A3 450.9 38.1 17.5 THRU
A4 603.3 38.1 17.5 THRU
A5 755.7 38.1 17.5 THRU
A6 908.1 38.1 17.5 THRU
A7 1060.5 38.1 17.5 THRU
A8 1212.9 38.1 17.5 THRU
A9 1365.3 38.1 17.5 THRU

A10 1517.7 38.1 17.5 THRU
A11 1670.1 38.1 17.5 THRU
A12 1822.5 38.1 17.5 THRU
A13 146.1 114.3 17.5 THRU
A14 298.5 114.3 17.5 THRU
A15 450.9 114.3 17.5 THRU
A16 603.3 114.3 17.5 THRU
A17 755.7 114.3 17.5 THRU
A18 908.1 114.3 17.5 THRU
A19 1060.5 114.3 17.5 THRU
A20 1212.9 114.3 17.5 THRU
A21 1365.3 114.3 17.5 THRU
A22 1517.7 114.3 17.5 THRU
A23 1670.1 114.3 17.5 THRU
A24 1822.5 114.3 17.5 THRU
A25 146.1 1104.9 17.5 THRU
A26 298.5 1104.9 17.5 THRU
A27 450.9 1104.9 17.5 THRU
A28 603.3 1104.9 17.5 THRU
A29 755.7 1104.9 17.5 THRU
A30 908.1 1104.9 17.5 THRU
A31 1060.5 1104.9 17.5 THRU
A32 1212.9 1104.9 17.5 THRU
A33 1365.3 1104.9 17.5 THRU
A34 1517.7 1104.9 17.5 THRU
A35 1670.1 1104.9 17.5 THRU
A36 1822.5 1104.9 17.5 THRU
A37 146.1 1181.1 17.5 THRU
A38 298.5 1181.1 17.5 THRU
A39 450.9 1181.1 17.5 THRU
A40 603.3 1181.1 17.5 THRU
A41 755.7 1181.1 17.5 THRU
A42 908.1 1181.1 17.5 THRU
A43 1060.5 1181.1 17.5 THRU
A44 1212.9 1181.1 17.5 THRU
A45 1365.3 1181.1 17.5 THRU
A46 1517.7 1181.1 17.5 THRU
A47 1670.1 1181.1 17.5 THRU
A48 1822.5 1181.1 17.5 THRU
B1 387.4 702.6 17.5 THRU
B2 387.4 552.5 17.5 THRU
B3 184.2 702.6 17.5 THRU
B4 82.6 702.6 17.5 THRU
B5 285.8 702.6 17.5 THRU
B6 82.6 552.5 17.5 THRU
B7 285.8 552.5 17.5 THRU
B8 184.2 552.5 17.5 THRU

1898.7
[74.75]

1219.2
[48.00]

12.7
[0.50]

Hole Table
HOLE XDIM YDIM DESCRIPTION

C1 20.1 368.3 M10x1.5 - 6H
C2 180.1 368.3 M10x1.5 - 6H
C3 340.1 368.3 M10x1.5 - 6H
C4 499.9 368.3 M10x1.5 - 6H
C5 659.9 368.3 M10x1.5 - 6H
C6 819.9 368.3 M10x1.5 - 6H
C7 979.9 368.3 M10x1.5 - 6H
C8 1140.0 368.3 M10x1.5 - 6H
C9 1300.0 368.3 M10x1.5 - 6H
C10 20.1 491.3 M10x1.5 - 6H
C11 180.1 491.3 M10x1.5 - 6H
C12 340.1 491.3 M10x1.5 - 6H
C13 499.9 491.3 M10x1.5 - 6H
C14 659.9 491.3 M10x1.5 - 6H
C15 819.9 491.3 M10x1.5 - 6H
C16 979.9 491.3 M10x1.5 - 6H
C17 1140.0 491.3 M10x1.5 - 6H
C18 1300.0 491.3 M10x1.5 - 6H
C19 20.1 768.3 M10x1.5 - 6H
C20 180.1 768.3 M10x1.5 - 6H
C21 340.1 768.3 M10x1.5 - 6H
C22 499.9 768.3 M10x1.5 - 6H
C23 659.9 768.3 M10x1.5 - 6H
C24 819.9 768.3 M10x1.5 - 6H
C25 979.9 768.3 M10x1.5 - 6H
C26 1140.0 768.3 M10x1.5 - 6H
C27 1300.0 768.3 M10x1.5 - 6H
C28 20.1 891.3 M10x1.5 - 6H
C29 180.1 891.3 M10x1.5 - 6H
C30 340.1 891.3 M10x1.5 - 6H
C31 499.9 891.3 M10x1.5 - 6H
C32 659.9 891.3 M10x1.5 - 6H
C33 819.9 891.3 M10x1.5 - 6H
C34 979.9 891.3 M10x1.5 - 6H
C35 1140.0 891.3 M10x1.5 - 6H
C36 1300.0 891.3 M10x1.5 - 6H
D1 1139.9 158.7 M12x1.75 - 6H
D2 1241.6 158.7 M12x1.75 - 6H
D3 1139.9 260.4 M12x1.75 - 6H
D4 1241.6 260.4 M12x1.75 - 6H
D5 1343.7 206.4 M12x1.75 - 6H
D6 1477.0 206.4 M12x1.75 - 6H
D7 1610.4 206.4 M12x1.75 - 6H
D8 1743.7 206.4 M12x1.75 - 6H
D9 1877.1 206.4 M12x1.75 - 6H
D10 1343.7 354.8 M12x1.75 - 6H
D11 1877.1 403.2 M12x1.75 - 6H
D12 1343.7 503.2 M12x1.75 - 6H
D13 1877.1 571.5 M12x1.75 - 6H
D14 1343.7 651.7 M12x1.75 - 6H
D15 1343.7 800.1 M12x1.75 - 6H
D16 1477.0 800.1 M12x1.75 - 6H
D17 1743.7 800.1 M12x1.75 - 6H
D18 1877.1 800.1 M12x1.75 - 6H
D19 1440.4 1002.3 M12x1.75 - 6H
D20 1542.1 1002.3 M12x1.75 - 6H
D21 1440.4 1104.0 M12x1.75 - 6H
D22 1542.1 1104.0 M12x1.75 - 6H
E1 257.2 627.5 Ø19.1 SLOT
E2 279.4 627.5 Ø19.1 SLOT

A46



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0 2921-200 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED
IMPACTOR FRAME & STOP ASS'Y.

0.25:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 11/26/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:
 ±1/64      X ±1    ±.5
          X.X ±.5
         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/26/2012

 

 

IMPACTOR FRAME ASSEMBLY2921-24013
IMPACTOR STOP ASSEMBLY2921-21012
IMPACTOR BASE PLATE2921-20111

DESCRIPTIONPART NUMBERQTYITEM

Impactor_Frame_Assembly_5.iam

3

2

216.47

53.98( )

288.98

276.33( )

96.75

202.2 539.8

203.8

96.8( )

151.4( )

51.3( )

47.7( )

1

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-502 12/10/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2 2921-201 B
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

IMPACTOR BASE PLATE

0.25:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:
    X ±1    ±.5
  X.X ±.5
 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

1018 Steel

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/5/2012

 

 

Impactor_Frame_Part 7_MIR_MIR.ipt

25.4
[1.00]

173.8
[6.84]

322.3
[12.69]

470.7
[18.53]

619.1
[24.38]

644.5
[25.38]

25.4
[1.00]

425.5
[16.75]

558.8
[22.00]

584.2
[23.00]

254.0
[10.00]

422.3
[16.63]

158.8
[6.25]

292.1
[11.50]

425.5
[16.75]

9.5
[0.38]

13X 0.531" THRU

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A REDESIGNED PLATE 2/13/2012 DW
 B DRAWING NUMBER WAS 2921-103 12/10/2013 DW

MATERIAL: PL 9.5 (3/8") x 584.2 (23") x 644.5 (25 3/8")



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2 2921-210 B
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

IMPACTOR STOP ASSEMBLY

0.25:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:
    X ±1    ±.5
  X.X ±.5
 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/5/2012

 

 

Steel, MildBOLT, HEX HD. 1/2-13 x 1 1/2"9000609V24
Steel, MildWASHER, HELICAL SPRING, 1/2"9000702V23
 HONEYCOMB FRAME ASSEMBLY2921-23012
 IMPACTOR STOP FRAME ASSEMBLY2921-22011
MATERIALDESCRIPTIONPART NUMBERQTYITEM

Impactor_Frame_Assembly_2.iam

400.1
[15.75]

393.7
[15.50]

304.8
[12.00]

1
2

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A REDESIGNED 2/13/2012 DW

 B ITEM #2 DESCRIPTION WAS HONEYCOMB FRAME 
ASSEMBLY, DRAWING NUMBER WAS 2921-007 12/5/2013 DW

4 3

B



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2 2921-220 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

IMPACTOR STOP FRAME ASSEMBLY

0.25:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:
    X ±1    ±.5
  X.X ±.5
 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/5/2012

 

 

IMPACTOR STOP TUBE END PLATE2921-22626
IMPACTOR STOP MECH. TUBE2921-22525
IMPACTOR STOP SUPPORT PLATE2921-22414
IMPACTOR STOP CENTER GUSSET PLATE2921-22323
IMPACTOR STOP SIDE GUSSET PLATE2921-22222
IMPACTOR STOP FACE PLATE2921-22111

DESCRIPTIONPART NUMBERQTYITEM

Impactor_Frame_Assembly.iam

304.8
[12.00]

6.4
[0.25]

136.5
[5.38]

114.3
[4.50]

136.5
[5.38]

6.4
[0.25]

400.1
[15.75]

111.1
[4.38]

152.4
[6.00]

1

5
6

2

3

4

44.5
[1.75]

50.8
[2.00]

15.9
[0.63]

6.4
[0.25]

387.4
[15.25]

6.4
[0.25]

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-510 12/10/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-221

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR STOP FACE PLATE

0.25:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

ATROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

   X ±1    ±.5 
 X.X ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Impactor_Frame_Part1.ipt

146.1

[5.75]

260.4

[10.25]

304.8

[12.00]

200.0

[7.88]

400.1

[15.75]

9.5

[0.38]

2X 16(0.63") THRU

REVISION HISTORY

ZONE REV DESCRIPTION DATE DES

 A DRAWING NUMBER WAS 2921-109 12/10/2013 DW

MATERIAL: PL 9.5 (3/8") x 304.8 (12") x 400.1 (15 3/4")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-222

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR STOP SIDE GUSSET PLATE

0.25:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

   X ±1    ±.5 
 X.X ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Impactor_Frame_Part 2.ipt

304.8

[12.0]

101.6

[4.0]

9.5

[0.4]

R12.7

[0.5]

MATERIAL: PL 9.5 (3/8") x 101.6 (4") x 304.8 (12")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-511 12/18/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-223

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR STOP CENTER GUSSET PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

   X ±1    ±.5                 125
 X.X ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Impactor_Frame_Part 3.ipt

146.1

[5.75]

298.5

[11.75]

9.5

[0.38]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DIMENSION 146.1 WAS 152.4 AND 298.5 WAS 279.5 11/28/12 DW

 B DRAWING NUMBER WAS 2921-111 12/10/2013 DW

MATERIAL: PL 9.5 (3/8") x 146.1 (5 3/4") x 298.5 (11 3/4")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-224

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR STOP SUPPORT PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

   DECIMAL:  ANGLES:  MACHINED:

     X ±1    ±.5                  123
   X.X ±.5

  X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Impactor_Frame_Part 4.ipt

400.1

[15.75]

152.4

[6.00]

9.5

[0.38]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DIMENSION 9.5 WAS 6.5, 152.4 WAS 98.4 AND 400.1 

WAS 400

11/28/12 DW

 B DRAWING NUMBER WAS 2921-110 12/10/2013 DW

MATERIAL: PL 9.5 (3/8") x 152.4 (6") x 400.1 (15 3/4")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-225 B
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

IMPACTOR STOP MECH. TUBE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
    X ±1    ±.5                125
  X.X ±.5
 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/5/2012

 

 

Impactor_Frame_Part 5.ipt

MATERIAL: T.S. 2"(50.8mm) x 2"(50.8mm) x 1/8"(3.2mm) x 0'-6"(149.9mm)

142.9
[5.63]

50.8
[2.00]

50.8
[2.00]

3.2
[0.13]
(TYP.)

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DIMENSION 142.9 WAS 85.9 11/28/12 DW
 B DRAWING NUMBER WAS 2921-113 12/10/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-226

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR STOP TUBE END PLATE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

    X ±1    ±.5                  125
  X.X ±.5

 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Impactor_Frame_Part 6.ipt

50.8

[2.00]

50.8

[2.00]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DIMENSION 9.5 WAS 6.5; REMOVED "10-24 UNC - 2B 

 THRU" HOLE FROM CENTER OF PLATE

11/28/12 DW

 B DRAWING NUMBER WAS 2921-114 12/10/2013 DW

9.5

[0.38]

MATERIAL: PL 9.5 (3/8") x 50.8 (2") x 50.8 (2")



 SECTION A-A 
SCALE 1 / 2

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1 2921-230 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

HONEYCOMB FRAME ASSEMBLY

0.5:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
   X ±1    ±.5                    125
 X.X ±.5
X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/5/2012

 

 

A

A

NUT, HEX 1/2-13900027428
HONEYCOMB FRAME GUSSET PLATE2921-23727
HONEYCOMB FRAME BUMPER TUBE END CAP2921-23626
HONEYCOMB FRAME BUMPER TUBE2921-23525
HONEYCOMB FRAME HONEYCOMB SUPPORT PLATE2921-23414
HONEYCOMB FRAME BACK PLATE2921-23313
HONEYCOMB FRAME EXTENSION TUBE2921-23252
HONEYCOMB FRAME BASE PLATE2921-23111

DESCRIPTIONPART NUMBERQTYITEM

Honeycomb_Fixture_Assembly.iam

387.4
[15.25]

76.2
[3.00]

158.8
[6.25]

6.4
[0.25]

241.3
[9.50]

149.2
[5.88]

88.9
[3.50]

238.1
[9.38]

6.4
[0.25]

387.4
[15.25]

6.4
[0.25]

92.1
[3.63]

6.4
[0.25]

66.7
[2.63]

66.7
[2.63]

31.8
[1.25]

130.2
[5.13]

28.6
[1.13]

1

2

3

4

5

6

7

165.1
[6.50]

TACK TYP.

8

REVISION HISTORY
ZONE REV DESCRIPTION DATE DES

 A
DRAWING TITLE WAS HEXCEL FRAME ASSSEMBLY, 
CHANGED TITLE OF ITEMS 1 THRU 7 IN PARTS 
LIST, DRAWING NUMBER WAS 2921-515

12/10/2013 DW

A

A

A



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-231

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED 

HONEYCOMB FRAME BASE PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

    X ±1    ±.5                   125
  X.X ±.5

 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Honeycomb_Fixture_Base.ipt

25.4

[1.00]

114.3

[4.50]

25.4

[1.00]

165.1

[6.50]

387.4

[15.25]

193.7

[7.63]

193.7

[7.63]

6.4

[0.25]

2X 15.9 (0.63") THRU

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS HEXCEL FRAME BASE 

PLATE, DRAWING NUMBER WAS 2921-516

12/5/2013 DW

A

MATERIAL: PL 6.4 (1/4") X 165.1 (6 1/2") X 387.4 (15 1/4")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-232 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

HONEYCOMB FRAME EXTENSION TUBE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:
    X ±1    ±.5                   125
  X.X ±.5
 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/5/2012

 

 

Honeycomb_Fixture_1_25_tube.ipt

MATERIAL: T.S. 1 1/4" x 1 1/4" x 1/8" x 0'-5 3/8" (136.5 mm)

136.5
[5.38]

31.8
[1.25]

31.8
[1.25]

3.2
[0.13]
(TYP.)

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING TITLE WAS HEXCEL FRAME EXTENSION 
TUBE, DRAWING NUMBER 2921-517 12/5/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-233

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

HONEYCOMB FRAME BACK PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

    X ±1    ±.5                    125
  X.X ±.5

 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Honeycomb_Fixture_Plate_2.ipt

387.4

[15.25]

136.5

[5.38]

6.4

[0.25]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS HEXCEL FRAME BACK 

PLATE, DRAWING NUMBER WAS 2921-518

12/5/2013 DW

A

MATERIAL: PL 6.4 (1/4") x 136.5 (5 3/8") x 387.4 (15 1/4")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-234

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

HONEYCOMB FRAME HONEYCOMB

SUPPORT PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64      X ±1    ±.5 
          X.X ±.5

         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Honeycomb_Fixture_Plate_1.ipt

387.4

[15.25]

88.9

[3.50]

6.4

[0.25]

REVISION HISTORY

ZONE REV DESCRIPTION DATE TODAY'S DES

 A

DRAWING TITLE WAS HEXCEL FRAME HEXCEL 

SUPPORT PLATE, DRAWING NUMBER WAS 2921-519

2/13/2012 12/5/2013 DW

A

MATERIAL: PL 6.4 (1/4") x 88.9 (3 1/2") x 387.4 (15 1/4")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-235 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

HONEYCOMB FRAME BUMPER TUBE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:
    X ±1    ±.5                   125
  X.X ±.5
 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/5/2012

 

 

Honeycomb_Fixture_2X3_tube.ipt

MATERIAL: T.S. 3" x 2" x 1/4" x 0'-3" (76.2)

76.2
[3.00]

76.2
[3.00]

6.4
[0.25]
(TYP.)

50.8
[2.00]

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING TITLE WAS HEXCEL FRAME BUMPER 
TUBE, DRAWING NUMBER WAS 2921-520 12/5/2013 DW

A



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-236

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

HONEYCOMB FRAME BUMPER TUBE

END CAP

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

    X ±1    ±.5                    125
  X.X ±.5

 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Honeycomb_Fixture_375_End_Cap.ipt

50.8

[2.00]

76.2

[3.00]

9.5

[0.38]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS HEXCEL FRAME BUMPER 

TUBE END CAP, DRAWING NUMBER WAS 2921-521

12/5/2013 DW

A

MATERIAL: PL 9.5 (3/8") x 50.8 (2") x 76.2 (3")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-237

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

HONEYCOMB FRAME GUSSET PLATE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

    X ±1    ±.5                   125
  X.X ±.5

 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Honeycomb_Fixture_Gusset.ipt

50.8

[2.00]

50.8

[2.00]

6.4

[0.25]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS HEXCEL FRAME GUSSET 

PLATE, DRAWING NUMBER WAS 2921-522

12/5/2013 DW

A

MATERIAL: PL 6.4 (1/4") x 50.8 (2") x 50.8 (2")



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0 2921-240 B
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

IMPACTOR FRAME ASSEMBLY

0.25:1
SCALE:

APPROVALS
DRAWN

DESIGNER

ENGINEER

Dave Walker 11/26/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OFAPPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

   DECIMAL:  ANGLES:  MACHINED:
     X ±1    ±.5                    125
   .XX ±.5
  .XXX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

VEHICLE RESEARCH
and TEST CENTER

CHECKED

Mike Vanvooris 11/26/2012

 

 

IMPACTOR DOOR PLATE2921-243110
IMPACTOR SUPPORT PLATE2921-24229
IMPACTOR FRAME TUBE 82921-241-838
IMPACTOR FRAME TUBE 72921-241-717
IMPACTOR FRAME TUBE 62921-241-616
IMPACTOR FRAME TUBE 52921-241-545
IMPACTOR FRAME TUBE 42921-241-424
IMPACTOR FRAME TUBE 32921-241-323
IMPACTOR FRAME TUBE 22921-241-222
IMPACTOR FRAME TUBE 12921-241-111

DESCRIPTIONPART NUMBERQTYITEM

Impactor_Frame_Assembly_4.iam

749.3
[29.50]

251.0
[9.88]

844.5
[33.25]

63.5
[2.50]

25.5
[1.00]

501.7
[19.75]

50.8
[2.00]

25.4
[1.00]

511.2
[20.13]

686.4
[27.02]

50.8
[2.00]

174.6
[6.87]

349.3
[13.75]

50.9
[2.00]

50.9
[2.00]

335.5
[13.21]

9.5
[0.37]

265.7
[10.46]

33.0
[1.30]

9.5
[0.37]

6

9.5
[0.37]

9

9

7

5

1

2

4

3

8

10

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A REMOVED "IMPACTOR BASE PLATE" - 2921-103 
FROM ASSEMBLY 11/26/2012 DW

 B DRAWING NUMBER WAS 2921-002 12/10/2013 DW



 2921-241-1 

T.S. 2" x 2" x 1/8" x 782.3mm (30.80")

1 REQUIERED

SCALE 1 / 2

 2921-241-2 

T.S. 2" x 2" x 1/8" x 749.3mm (29.50")

2 REQUIRED

SCALE 1 / 2

 2921-241-3 

T.S 2" x 2" x 1/8" x 301.8mm (11.88")

2 REQUIRED

SCALE 1 / 2

 2921-241-4

T.S. 2" x 2" x 1/8" x 400.1mm (15.75")

2 REQUIRED

SCALE 1 / 2

 2921-241-5 

T.S. 2" x 2" x 1/8" x 409.7mm (16.13")

4 REQUIRED

SCALE 1 / 2

 2921-241-6 

T.S. 2" x 2" x 1/8" x 200.2mm (7.88")

1 REQUIRED

SCALE 1 / 2

 2921-241-7 

T.S. 2" x 2" x 1/8" x 816.1mm (32.13")

1 REQUIRED

SCALE 1 / 2

 2921-241-8 

T.S. 2" x 2" x 1/8" x 1016mm (40.00")

3 REQUIRED

SCALE 1 / 2

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-241-1 THRU 8

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR FRAME TUBES

AS NOTED

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

     X ±1    ±.5                    125
   X.X ±.5

  X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

A-500-B

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Dave Walker

11/5/2012

 

 

782.3

[30.80]

50.8

[2.00]

3.2

[0.13]

(TYP.)

50.8

[2.00]

749.3

[29.50]

50.8

[2.00]

50.8

[2.00]

3.2

[0.13]

(TYP.)

301.8

[11.88]

50.8

[2.00]

50.8

[2.00]

3.2

[0.13]

(TYP.)

400.1

[15.75]

50.8

[2.00]

3.2

[0.13]

(TYP.)

50.8

[2.00]

409.6

[16.13]

50.8

[2.00]

50.8

[2.00]

3.2

[0.13]

(TYP.)

200.2

[7.88]

50.8

[2.00]

3.2

[0.13]

(TYP.)

50.8

[2.00]

815.98

[32.13]

23.7

[0.93]

( ) 108.9

[4.29]

( )

25°

65°

50.8

[2.00]

3.2

[0.13]

(TYP.)

50.8

[2.00]

1016.0

[40.00]

46.5

[1.83]

( ) 55.4

[2.18]

( )

47.5°

42.5°

REVISION HISTORY

ZONE REV DESCRIPTION TODAY'S BY

 A

COMBINED ALL IMPACT FRAME TUBES TO ONE 

DRAWING

11/29/2012 DW

 B DRAWING NUMBER WAS 2921-105- 1 THRU 8 12/10/2013 DW

50.8

[2.00]

50.8

[2.00]

3.2

[0.13]



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-242

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR SUPPORT PLATE

0.25:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±.5 
   .X  ±.5

   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

11/5/2012

Mike Vanvoorhis

DESIGNER

 

 

Impactor_Support_Plate.ipt

9.5

[0.37]

4X Ø13.5 [0.531"]  THRU

25.4

[1.00]

127.1

[5.00]

152.5

[6.00]

25.4

[1.00]

127.1

[5.00]

152.5

[6.00]

MATERIAL: PL 3/8" x 152.5 mm (6.0") x 152.5 mm (6.0")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-104 12/10/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-243

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR DOOR PLATE

1:4

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±.5 
   .X  ±.5

   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Impactor_Door_Plate.ipt

781.7

[30.78]

361.9

[14.25]

525.2

[20.68]

609.6

[24.00]

( )

74°

9.5

[0.37]

70°

MATERIAL: PL 3/8" x 776.7 mm (30.5") x 525.2 mm (20.0")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-106 12/10/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0 2921-250 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED
LINEAR RAIL ASS'Y.

0.5:1
SCALE:

APPROVALS
DRAWN

DESIGNER

ENG

Dave Walker 2/29/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:
    X  ±1   ±0.5
 X.X  ±.5
X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

CHECKED

Mike Van Voorhis 8/16/2012

Steel, MildSCREW, SHCS M8-1.25 x 205000075174
 LINEAR RAIL2921-25212
 RAIL MTG. PLATE2921-25111
MATERIALDESCRIPTIONPART NUMBERQTYITEM

Rail_Assembly.iam

51.5
[2.03]

1314.5
[51.75]

150.0
[5.91]

75.0
[2.95]

75.0
[2.95]

2.8
[0.11] 1

2 4

9.5
[0.38]

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-616 12/10/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-251

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

RAIL MTG. PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/27/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Rail_Plate.ipt

150.0

[5.91]

1314.5

[51.75]

A1

A2

A3 A5

A6

A7

A8

A9

A10

A11

A12

A13

A14

A15

A16

A17

A18

B1

B2

B3

B4

B5 B6 B7 B8 B9 B10 B11

B12

B13 B14 B15 B16 B17

Hole Table

HOLE XDIM YDIM DESCRIPTION

A1 17.2 -13.5 13.5 THRU

A2 17.2 -136.5 13.5 THRU

A3 177.2 -13.5 13.5 THRU

A4 177.2 -136.5 13.5 THRU

A5 337.2 -13.5 13.5 THRU

A6 337.2 -136.5 13.5 THRU

A7 497.2 -13.5 13.5 THRU

A8 497.2 -136.5 13.5 THRU

A9 657.2 -13.5 .13.5 THRU

A10 657.2 -136.5 13.5 THRU

A11 817.2 -13.5 13.5 THRU

A12 817.2 -136.5 13.5 THRU

A13 977.2 -13.5 13.5 THRU

A14 977.2 -136.5 13.5 THRU

A15 1137.2 -13.5 13.5 THRU

A16 1137.2 -136.5 13.5 THRU

A17 1297.2 -13.5 13.5 THRU

A18 1297.2 -136.5 13.5 THRU

B1 17.2 -75.0 M8x1.25 - 6H

B2 97.2 -75.0 M8x1.25 - 6H

B3 177.2 -75.0 M8x1.25 - 6H

B4 257.2 -75.0 M8x1.25 - 6H

B5 337.2 -75.0 M8x1.25 - 6H

B6 417.2 -75.0 M8x1.25 - 6H

B7 497.2 -75.0 M8x1.25 - 6H

B8 577.2 -75.0 M8x1.25 - 6H

B9 657.2 -75.0 M8x1.25 - 6H

B10 737.2 -75.0 M8x1.25 - 6H

B11 817.2 -75.0 M8x1.25 - 6H

B12 897.2 -75.0 M8x1.25 - 6H

B13 977.2 -75.0 M8x1.25 - 6H

B14 1057.2 -75.0 M8x1.25 - 6H

B15 1137.2 -75.0 M8x1.25 - 6H

B16 1217.2 -75.0 M8x1.25 - 6H

B17 1297.2 -75.0 M8x1.25 - 6H

A4

9.5

[0.38]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DIMENSION 1314.5 WAS 1790 11/28/2012 DW

 B DRAWING NUMBER WAS 2921-616 12/10/2013 DW

MATERIAL: PL 9.5(3/8") x 150.0(5 7/8") x 1314.5(4'-3 3/4")



 FLANGE TYPE - HEAVY LOAD SLIDER 3000010V22

 LINEAR RAIL - RAIL3000001V11

MATERIALDESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-252

C

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LINEAR RAIL

0.25:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/14/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

     X ±1     ±0.5                  125
 X.X ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

 

 

Rail.iam

72.0

[2.83]

52.0

[2.05]

4X 9  THRU

17X 9.0 THRU

 14.0   12.0

1314.5

[51.75]

 OVERALL RAIL LENGTH

2

1

42.0

[1.65]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A ADDED ASSEMBLY HEIGHT DIMENSION 2/14/2012 DW

 B DIMENSION 1314.5 WAS 1800 11/29/2012 DW

 C DRAWING NUMBER WAS 2921-116 12/10/2013 DW

A

B

20.0

[0.79]

1280.0

[50.39]

16 SPC'S. @ 80.0

[3.15]

= 

NOTE:

THK LINEAR MOTION GUIDE MODEL HSR-30B, OR EQUIVALENT



 SECTION A-A 

BOLT, HEX HD. 1/4-20 x 2"9000695V118

NUT, HEX 1/4-209000105117

SCREW, SHCS 3/8-16 x 3/490004901016

WASHER, FLAT 3/8"9009270V1115

HEX  NUT 1/4-2890001101214

WASHER, FLAT 1/2"9000174413

WASHER, FLAT 1/4"90002442712

NUT, HEX 1/2-139000274411

SCREW, SHCS 1/2-13 x 1 1/2"9000010V410

SCREW, BHCS 1/4-20 x 3/8"9001318V149

BEARING MOUNT PLATE ASS'Y.2921-39518

SEAT BACK CUSHION ASS'Y.2921-39017

BENCH SEAT BACK PANEL2921-38016

BOTTOM SEAT CUSHION ASS'Y.2921-37015

BENCH SEAT PANEL2921-36014

LOWER ANCHOR ASSEMBLY2921-35013

TOP TETHER ANCHOR2921-34012

BENCH FRAME ASSEMBLY2921-31011

DESCRIPTIONPART NUMBERQTYITEM

A A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0

2921-300

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH ASSEMBLY

0.25:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/28/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

11/5/2012

Mike Vanvoorhis

Bench_Assembly.iam

859.0

[33.82]

 OVERALL

1

8

6

9 12

9 12

12

5

7

101311

4

16 15

1412

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

G11

C8

A
ADDED BALLOONS FOR ITEMS 13, 14 & 15

12/5/2013 DW

 B

DRWAING NUMBER WAS 2921-004; ADDED ITEM #2 

PART #2921-340 - TOP TETHER ANCHOR, ITEM #17, 

ITEM #18 & SECTION A-A

12/12/2013 DW

A

A

3

2

181712

B

B

B



FRONT VIEW
RIGHT SIDE VIEW

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0 2921-310 D
SIZE

SHEET

DRAWING NUMBER REV

3 1 

CHILD SIDE IMPACT SLED

BENCH FRAME ASSEMBLY

0.5:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Mike Vanvoorhis

2/21/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:
   X  ±1   ±0.5
X.X  ±.5
X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
11/5/2012

Dave Walker

NUT, HEX 1/2-139000274223
WASHER, FLAT 1/2"9000174222
LIGHT TRAP VANE2921-331121
D-RING LOWER ANCHOR2921-328120
D-RING LOWER ANCHOR MTG. ANGLE2921-327119
D-RING UPPER ANCHOR2921-326118
BENCH STOP PLATE2921-322117
BENCH TOP ANCHOR BRACE PLATE2921-321116
BENCH CROSS BRACE PLATE2921-319215
BENCH LOWER ANCHOR MTG. ANGLE2921-318414
BENCH UPPER BELT MTG. TUBE2921-315113
BENCH FRAME CENTER STIFFENER PLATE2921-314112
BENCH BEARING SUPPORT PLATE2921-313211
BENCH BASE MTG. ANGLE2921-312110
BENCH FRAME TUBE #9 ASS'Y.2921-311-929
BENCH FRAME TUBE #82921-311-818
BENCH FRAME TUBE #72921-311-727
BENCH FRAME TUBE #62921-311-626
BENCH FRAME TUBE #52921-311-525
BENCH FRAME TUBE #42921-311-424
BENCH FRAME TUBE #32921-311-323
BENCH FRAME TUBE #22921-311-232
BENCH FRAME TUBE #12921-311-121

DESCRIPTIONPART NUMBERQTYITEM

A A

Bench_Frame_Assembly.iam

198.8
[7.8]

10.6
[0.4]

391.6
[15.4]

10.6
[0.4]

827.0
[32.6]

(  OVERALL)

141.68
[5.6]

541.68
[21.3]

748.08
[29.5]

(  OVERALL)

64.0
[2.5]

10

1
2

3

6

4

5

7

17

SHEET 3 14

154.0
[6.1]

161.9
[6.4]

859.0
[33.8]

25.4
[1.0]

18

20

22

23

19

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A REMOVED MOUNTS FOR RATCHET GEAR AND 
PAWL SYSTEM 4/18/2012 DW

 B REMOVED RACK RATCHET SYSTEM AND ADDED 
SPRING ANTI-REBOUND SYSTEM 11/29/2012 DW

 C
DRAWING NUMBER WAS 2921-005, ITEM #9 PART 
NUMBER WAS 2921-311-8, ADDED ITEM #8 PART 
NUMBER 2921-311-9

12/11/2013 DW

 D

REMOVED PART NO. 2921-316 -BENCH UPPER 
BELT MTG. PLATE, 2921-317 - BENCH UPPER BELT 
MTG. PLATE BRACE, 2921-320 - BENCH LOWER 
BELT MTG. PLATE, 2921-323 - BENCH BEARING 
MTG. PLATE, 2921-324 - RATCHET RELEASE FRONT 
CABLE GUIDE & 2921-325 - RATCHET RELEASE 
REAR CABLE GUIDE; DESCRIPTION OF ITEM #12 
WAS "BENCH CENTER BEARING SUPPORT PLATE"

12/23/2013 DW

C



REAR VIEW

LEFT SIDE VIEW

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0

2921-310

D

SIZE

SHEET

DRAWING NUMBER REV

3 

2 

CHILD SIDE IMPACT SLED

BENCH FRAME ASSEMBLY

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Mike Vanvoorhis

2/21/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

11/5/2012

Dave Walker

674.8

[26.6]

13

16

15

741.68

[29.2]



SECTION A-A

FROM SHEET 1

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0

2921-310

D

SIZE

SHEET

DRAWING NUMBER REV

3 

3 

CHILD SIDE IMPACT SLED

BENCH FRAME ASSEMBLY

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Mike Vanvoorhis

2/21/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

11/5/2012

Dave Walker

127.0

[5.0]

401.7

[15.8]

95.0

[3.7]

243.8

[9.6]

127.55

[5.0]

398.0

[15.7]

9

12

11

11

10

66.9

[2.6]

275.1

[10.8]

21

363.5

[14.3]

260.4

[10.3]

38.1

[1.5]

38.1

[1.5]

19.1

[0.8]

7.1 THRU

[0.281 THRU]

8

2



 2921-311-1 

T.S. 1 1/2 x1 1/2 x 1/8 x741.7mm (29.20")

2 REQUIRED

SCALE 1 / 2

 2921-311-2 

T.S. 1 1/2 x 1 1/2 x 1/8 x 623.8mm (24.56")

3 REQUIRED

SCALE 1 / 2

 2921-311-3 

T.S. 1 1/2 x1 1/2 x 1/8 x 641.4mm (25.25")

2 REQUIRED

SCALE 1 / 2

 BENCH FRAME TUBE #4 

T.S. 1 1/2 x 1 1/2 x 1/8 x 11.8mm (6.37")

2 REQUIRED

SCALE 1 / 2

 2921-311-5 

T.S. 1 1/2 x 1 1/2 x 1/8 x 524.0mm (20.63")

2 REQUIRED

SCALE 1 / 2

 2921-311-6 

T.S. 1 1/2 x 1 1/2 x 1/8 x 127.0mm (5.0")

2 REQUIRED

SCALE 1 / 2

 2921-311-7 

T.S. 1 1/2 x 1 1/2 x 1/8 x 545.6mm (21.31")

2 REQUIRED

SCALE 1 / 2

 2921-311-8 

T.S. 1 1/2 x 1 1/2 x 1/8 x 623.8mm (24.56")

1 REQUIERED

SCALE 1 / 2

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-311-1 thru 8

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH FRAME TUBES 1 THRU 8

0.25:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/28/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

A-500-B

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

741.7

[29.20]

38.1

[1.50]

38.1

[1.50]

3.2

[0.13]

(TYP.)

623.8

[24.56]

38.1

[1.50]

38.1

[1.50]

3.2

[0.13]

(TYP.)

104.7

[4.12]

( )

641.4

[25.25]

31.8

[1.25]

38.1

[1.50]

3.2

[0.13]

(TYP.)

20°

88.9

[3.50]

19.1

[0.75]

6.7

[0.26]

161.8

[6.37]

38.1

[1.50]

38.1

[1.50]

3.2

[0.13]

(TYP.)

1/4-20 UNC 0.125" (3.2mm)

[1/4-20 UNC 0.1250" (3.2mm)]

6.7

[0.26]

524.0

[20.63]

38.1

[1.50]

3.2

[0.13]

(TYP.)

38.1

[1.50]

3X 1/4-20 UNC 0.125" (3.2mm)

[3X 1/4-20 UNC 0.1250" (3.2mm)]

10.2

[0.40]

( )

127.0

[5.00]

75.0°

38.1

[1.50]

3.2

[0.13]

(TYP.)

38.1

[1.50]

484.6

[19.08]

541.4

[21.31]

15.2°

6.2

[0.24]

( )

15.2°

47.5

[1.87]

201.6

[7.94]

352.6

[13.88]

19.0

[0.75]

15.4

[0.61]

( )

38.1

[1.50]

3.2

[0.13]

(TYP.)

38.1

[1.50]

REVISION HISTORY

ZONE REV DESCRIPTION TODAY'S BY

 A

COMBINED BENCH FRAME TUBES 2921-200-1 THRU 

2921-200-7 INTO ONE DRAWING

11/30/2012 DW

 B

DRAWING NUMBER WAS 2921-200-1 THRU 7, 

ADDED 2921-311-8

12/10/2013 DW

52.8

[2.08]

258.8

[10.19]

489.4

[19.27]

1/4-20 UNC  0.125" (3.2mm)

[1/4-20 UNC  0.13" (3.2mm)]

623.8

[24.56]

19.1

[0.75]

7.1 THRU

[0.281 THRU]

363.5

[14.31]

260.4

[10.25]

38.1

[1.50]

38.1

[1.50]

3.2

[0.13]

(TYP.)



 DETAIL 2921-311-9-1 

 DETAIL2921-311-9-2 
SCALE 1 : 1

 DETAIL 2921-311-9-3
SCALE 1 : 1

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2 2921-311-9 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

BENCH FRAME TUBE #9 ASS'Y.

1:4
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
    X  ±1   ±.5                125
  X.X  ±.5
 X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

VEHICLE RESEARCH
and TEST CENTER

Mike Vanvoorhis 11/5/2012
DESIGNER

SteelSHT. #16 Ga. x 13 (0.51") x 38.1 (1.5")2921-311-9-323
SteelSHT. #16 Ga. x 38.1 (1.5") x 33.2 (1.31")2921-311-9-212
Steel, MildT.S. 1 1/2" x 1 1/2" x 1/8" x 623.8 mm (24.56")2921-311-9-111

MATERIALDESCRIPTIONPART NUMBERQTYITEM

Bench_Frame_Tube-9_Assembly.iam

13.0
[0.51]

130.7
[5.15]

623.8
[24.56]

1

2

33.3
[1.31]

129.2
[5.09]

623.8
[24.56]

33.2
[1.31]

38.1
[1.50]

1.5
[0.06]

38.1
[1.50]

13
[0.51]

1.5
[0.06]

2X 5 x 45° CHAMFER

14.50
[0.57]

30.26
[1.19]3

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-200-8 12/18/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-312

C

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH BASE MTG. ANGLE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±.5                     125
  X.X  ±.5

 X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Bench_Base_Mounting_Angle.ipt

45.0

[1.77]

445.0

[17.52]

40.0

[1.57]

76.2

[3.00]

9.5

[0.38]

2X 11.0 [0.43"] THRU

R7.9

[0.31]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A ADDED 14 HOLES AND 5/16-18 HOLES 4/18/2012 DW

 B

REMOVED 14 HOLES AND 5/16-18 HOLES; 

DIMENSION 76.2 WAS 88.9 AND 40.0 WAS 31.75

12/3/2012 DW

 C DRAWING NUMBER WAS 2921-209 12/11/2013 DW

MATERIAL: L 3 x 2 x 3/8 x 19.213" (488.0mm)

488.0

[19.21]



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-313

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH BEARING SUPPORT PLATE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

  DECIMAL:  ANGLES:  MACHINED:

    X  ±1    ±.5                 125
  X.X  ±.5

 X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

Bench_Bearing_Support_Plate.ipt

102

[4.02]

620.0

[24.41]

9.5

[0.37]

23

[0.91]

223

[8.78]

422

[16.61]

570

[22.44]

11.0 [0.43"]THRU

44

[1.75]

58

[2.27]

3X 11.0 x 70mm LG. SLOT THRU

     [Ø0.43"] x [2.76"] LG.

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

REMOVED 14 HOLES; ADDED 11 x 70mm LG. 

SLOTS; DIMENSION 620.0 WAS 623.8 AND 102 WAS 89

12/3/2012 DW

 B DRAWING NUMBER WAS 2921-212 12/11/2013 DW

MATERIAL: PL 9.5 (3/8") x 102.0 (4") x 620.0 (24 7/16")

15

[0.59]

70

[2.76]



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2 2921-314 B
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

BENCH FRAME CENTER STIFFENER PLATE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
    X  ±1   ±.5                  125
  X.X  ±.5
 X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

1018 Steel, Mild

VEHICLE RESEARCH
and TEST CENTER

Dave Walker
DESIGNER

Bench Frame Center Stiffener Plate.ipt

REVISION HISTORY
ZONE REV DESCRIPTION DATE DES

 A DRAWING NUMBER WAS 2921-213 12/11/2013 DW

 B

REMOVED TAPPED HOLES AND CENTER CUT OUT; 
DIMENSION 172-2 [6.78] WAS 185.47 [7.30]; 
DRAWING TITLE WAS "BENCH CENTER BEARING 
SUPPORT PLATE"

12/23/2013 DW

9.5
[0.38]

MATERIAL: PL9.5 (3/8") x 172-3 (6 13/16") x 243.9 (9 5/8")

172.2
[6.78]

243.9
[9.60]

B



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1 2921-315 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

BENCH UPPER BELT MTG. TUBE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/27/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
    X   ±1   ±0.5                125
 X.X  ±.5
X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

A-500-B

VEHICLE RESEARCH
and TEST CENTER

Mike Vanvoorhis
DESIGNER

11/5/2012

Bench_Upper_Belt_Mounting_Tube.ipt

400.1
[15.75]

50.8
[2.00]

50.8
[2.00]

MATERIAL: T.S. 2" x 2" x 1/8" x 400.1mm (15.75")

3.2
[0.13]
(TYP.)

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-201 12/19/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-318 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

BENCH LOWER ANCHOR MTG. ANGLE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 2/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
    X  ±1   ±.5                  125
  X.X  ±.5
 X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

1018 Steel

VEHICLE RESEARCH
and TEST CENTER

11/5/2012Mike Vanvoorhis
DESIGNER

Bench_Lower_Anchor_Mounting_Angle.ipt

20.0
[0.79]

55.0
[2.17]

95.0
[3.74]

2X 13.5[.531"]  THRU

50.8
[2.00]

50.8
[2.00]

R6.35
[0.25]

6.4
[0.25]

25.0
[0.98]

MATERIAL: L2" x 2" x 1/4" x 95.0mm (3 3/4")

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-210 12/11/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-319

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH CROSS BRACE PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

   X  ±1    ±.5                  125
 X.X  ±.5

X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

11/5/2012

Mike Vanvoorhis

DESIGNER

Bench_Cross_Brace_Plate.ipt

50.8

[2.00]

6.4

[0.25]

875

[34.45]

45°2X 

MATERIAL: PL 6.4 (1/4") x 50.8 (2") x 875.0 (34 7/16")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-205 12/11/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-321

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH TOP ANCHOR BRACE PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/21/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±0.5               125
  X.X  ±.5

 X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DESIGNER

Bench_Top_Anchor_Brace_Plate.ipt

900.0

[35.4]

32.0

[1.26]

19.1

[0.75]

18.3

[0.72]

40°

50°

6.4

[0.25]

38.1

[1.50]

50°

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DIMENSION 900 WAS 1140.5 12/12/2012 DW

 B DRAWING NUMBER WAS 2921-206 12/11/2013 DW

MATERIAL: BAR 38.1 (1 1/2") x 6.4 (1/4") x 900.0 (35 7/16")



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-322

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH STOP PLATE

1:2

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±.5                   125
  X.X  ±.5

 X.XX  ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

8620 Steel

VEHICLE RESEARCH

and TEST CENTER

11/5/2012

Mike Vanvoorhis

DESIGNER

Bench_Stop_Plate.ipt

9.5

[0.4]

400

[15.7]

150

[5.9]

A60

A98

A69

A88

A51

A44

A78

A59

A97

A31

A19

A87

A68

A50

A24

A13

A77

A58

A96

A42

A18

A23

A7

A29

A12

A17

A1

A6

A39 A40

A33 A34

A26 A27

A20

A2

A28

A21

A22

A8

A3

A9

A15 A16

A10

A4 A5

A11

A67

A66

A76

A49

A41

A86

A105

A95

A85

A75

A65

A104

A56

A94

A84

A74

A103

A93

A57

A46 A47

A52 A53 A54 A55

A61 A62 A63

A70 A71 A72 A73

A89 A92

A80 A81 A82

A101

A91A90

A100A99

A79

A14

A25

A48

A64

A83

A102

Hole Table

HOLE XDIM YDIM DESCRIPTION

A1

50.0 10.0 10.0  THRU

A2

250.0 10.0 10.0  THRU

A3

290.0 10.0 10.0  THRU

A4

330.0 10.0 10.0  THRU

A5

370.0 10.0 10.0  THRU

A6

30.0 20.0 10.0  THRU

A7

70.0 20.0 10.0  THRU

A8

270.0 20.0 10.0  THRU

A9

310.0 20.0 10.0  THRU

A10

350.0 20.0 10.0  THRU

A11
390.0 20.0 10.0  THRU

A12

50.0 30.0 10.0  THRU

A13

90.0 30.0 10.0  THRU

A14
130.0 30.0 10.0  THRU

A15

330.0 30.0 10.0  THRU

A16

370.0 30.0 10.0  THRU

A17

30.0 40.0 10.0  THRU

A18

70.0 40.0 10.0  THRU

A19

110.0 40.0 10.0  THRU

A20

150.0 40.0 10.0  THRU

A21

350.0 40.0 10.0  THRU

A22

390.0 40.0 10.0  THRU

A23

50.0 50.0 10.0  THRU

A24

90.0 50.0 10.0  THRU

A25

130.0 50.0 10.0  THRU

A26

170.0 50.0 10.0  THRU

A27
210.0 50.0 10.0  THRU

A28

370.0 50.0 10.0  THRU

A29

30.0 60.0 10.0  THRU

A30

70.0 60.0 10.0  THRU

A31

110.0 60.0 10.0  THRU

A32

150.0 60.0 10.0  THRU

A33

190.0 60.0 10.0  THRU

A34

230.0 60.0 10.0  THRU

A35

50.0 70.0 10.0  THRU

A36

90.0 70.0 10.0  THRU

A37

130.0 70.0 10.0  THRU

A38

170.0 70.0 10.0  THRU

A39

210.0 70.0 10.0  THRU

A40

250.0 70.0 10.0  THRU

A41

290.0 70.0 10.0  THRU

A42

30.0 80.0 10.0  THRU

A43

70.0 80.0 10.0  THRU

A44

110.0 80.0 10.0  THRU

A45

150.0 80.0 10.0  THRU

A46

190.0 80.0 10.0  THRU

A47

230.0 80.0 10.0  THRU

A48

270.0 80.0 10.0  THRU

A49

310.0 80.0 10.0  THRU

A50

50.0 90.0 10.0  THRU

A51

90.0 90.0 10.0  THRU

A52

130.0 90.0 10.0  THRU

A53

170.0 90.0 10.0  THRU

4X 5 x 45° CHAMFER

A30 A32

A35 A36 A37 A38

A43 A45

Hole Table

HOLE XDIM YDIM DESCRIPTION

A54

210.0 90.0 10.0  THRU

A55

250.0 90.0 10.0  THRU

A56

290.0 90.0 10.0  THRU

A57

330.0 90.0 10.0  THRU

A58

30.0 100.0 10.0  THRU

A59

70.0 100.0 10.0  THRU

A60

110.0 100.0 10.0  THRU

A61

150.0 100.0 10.0  THRU

A62

190.0 100.0 10.0  THRU

A63

230.0 100.0 10.0  THRU

A64

270.0 100.0 10.0  THRU

A65

310.0 100.0 10.0  THRU

A66

350.0 100.0 10.0  THRU

A67

390.0 100.0 10.0  THRU

A68

50.0 110.0 10.0  THRU

A69

90.0 110.0 10.0  THRU

A70

130.0 110.0 10.0  THRU

A71

170.0 110.0 10.0  THRU

A72

210.0 110.0 10.0  THRU

A73

250.0 110.0 10.0  THRU

A74

290.0 110.0 10.0  THRU

A75

330.0 110.0 10.0  THRU

A76

370.0 110.0 10.0  THRU

A77

30.0 120.0 10.0  THRU

A78

70.0 120.0 10.0  THRU

A79

110.0 120.0 10.0  THRU

A80

150.0 120.0 10.0  THRU

A81

190.0 120.0 10.0  THRU

A82

230.0 120.0 10.0  THRU

A83

270.0 120.0 10.0  THRU

A84

310.0 120.0 10.0  THRU

A85

350.0 120.0 10.0  THRU

A86

390.0 120.0 10.0  THRU

A87

50.0 130.0 10.0  THRU

A88

90.0 130.0 10.0  THRU

A89

130.0 130.0 10.0  THRU

A90

170.0 130.0 10.0  THRU

A91

210.0 130.0 10.0  THRU

A92

250.0 130.0 10.0  THRU

A93

290.0 130.0 10.0  THRU

A94

330.0 130.0 10.0  THRU

A95

370.0 130.0 10.0  THRU

A96

30.0 140.0 10.0  THRU

A97

70.0 140.0 10.0  THRU

A98

110.0 140.0 10.0  THRU

A99

150.0 140.0 10.0  THRU

A100

190.0 140.0 10.0  THRU

A101

230.0 140.0 10.0  THRU

A102

270.0 140.0 10.0  THRU

A103

310.0 140.0 10.0  THRU

A104

350.0 140.0 10.0  THRU

A105

390.0 140.0 10.0  THRU

MATERIAL: PL 9.5 (3/8") x 150.0 (5 7/8") x 400.0 (15 3/4")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-203 12/11/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-326

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

D-RING UPPER ANCHOR

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/3/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64     .X ±.1    ±.5 
          .XX ±.01

         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Steel, Mild

D_Ring_Anchor_Part_4.ipt

38.1

[1.50]

57.2

[2.25]

25.4

[1.00]

50.8

[2.00]

12.7

[0.50]

0.5"  THRU

MATERIAL: BAR 50.8 (2") x 12.7 (1/2") x 57.2 (2 1/4")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-800 12/11/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-327 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

D-RING LOWER ANCHOR MTG. ANGLE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 12/3/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:
 ±1/64     .X ±.1    ±.5
          .XX ±.01
         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

Mike Vanvoorhis
DESIGNER

11/5/2012

Steel, Mild

D_Ring_Anchor_Part_3.ipt

38.1
[1.50]

50.8
[2.00]

38.1
[1.50]

50.8
[2.00]

6.4
[0.25]

0.5"  THRU

MATERIAL: L2" x 2" x 3/8" x 38.1mm (1.5")

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-810 12/11/2013 DW



D-RING LOWER ANCHOR THREADED ROD2921-33012

D-RING LOWER ANCHOR PLATE2921-32911

DESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-328

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

D-RING LOWER ANCHOR

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/3/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64     .X ±.1    ±.5 
          .XX ±.01

         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

D_Ring_Anchor_Assembly1.iam

127.0

[5.00]

69.9

[2.75]

12.7

[0.50]

2

1

209.6

[8.25]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-820 12/3/2012 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-329

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

D-RING LOWER ANCHOR PLATE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/3/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64     .X ±.1    ±.5 
          .XX ±.01

         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Steel, Mild

D_Ring_Anchor_Part_1.ipt

25.4

[1.00]

69.9

[2.75]

82.6

[3.25]

12.7

[0.50]

25.4

[1.00]

19.1

[0.75]

38.1

[1.50]

6.4

[0.25]

12.7mm (0.5") THRU

MATERIAL: BAR 1.5" (3.81mm) x 1/4" (6.35mm) X 3.25" (82.6mm)

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-821 12/11/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-330

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

D-RING LOWER ANCHOR THREADED ROD

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/3/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64     .X ±.1    ±.5 
          .XX ±.01

         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Steel

D_Ring_Anchor_Part_2.ipt

MATERIAL: ROD, THREADED 1/2-13 x 6" (152.4 mm) LG.

152.4

[6.00]

1/2-13 UNC

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-822 12/11/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-331 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED
LIGHT TRAP VANE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 12/3/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:
 ±1/64     .X ±.1    ±.5
          .XX ±.01
         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

Mike Vanvoorhis
DESIGNER

11/5/2012

Steel, Mild

Light Trap Vane.ipt

44.5
[1.75]

3.2
[0.13]

76.2
[3.00]

28.6
[1.13]

25.4
[1.00]

R3.2
[0.13]

2X 
38.1
[1.50]

63.5
[2.50]

22.2
[0.88]

MATERIAL: BAR 25.4 (1") x 3.2 (1/8") x 138.8 (5 7/16")

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-585 12/11/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-340
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

TOP TETHER ANCHOR

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENG

Dave Walker 12/20/2013

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
X     ±.5    ±.5
X.X   ±.2
X.XX  ±.1
X.XXX ±.01

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

1.6

Steel, Mild

VEHICLE RESEARCH
and TEST CENTER

Top Tether Anchor.ipt

31.8
[1.25]

38.1
[1.50]

3.2
[0.13]

6.4
[0.25]

15.9
[0.63]

9.5
[0.38]

12.7
[0.50]

R3.2
[0.13]

4X 

31.8
[1.25]

15.9
[0.63]

15.9
[0.63]

6.5 THRU
[0.257 THRU]

MATERIAL: PL 3.2 (1/8") x 31.8 (1 1/4") x 67.2 (2 5/8")

60°



 SECTION A-A 

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1 2921-350 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED
LOWER ANCHOR ASSEMBLY

0.5:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 11/26/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:
 ±1/64      X ±1    ±.5
          X.X ±.5
         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike  Vanvoorhis 11/5/2012

 

 

A

A

LOWER ANCHOR, ANCHOR ROD2921-35626
LOWER ANCHOR BELT ATTACHMENT PLATE2921-35525
LOWER ANCHOR LOWER ATTACHMENT PLATE2921-35424
LOWER ANCHOR BASE TUBE END CAP2921-35323
LOWER ANCHOR VERTICAL TUBE2921-35222
LOWER ANCHOR BASE TUBE2921-35111

DESCRIPTIONPART NUMBERQTYITEM

Lower Anchor_Assembly.iam

82.6
[3.25]

279.4
[11.00]

82.6
[3.25]

444.5
[17.50]

50.8
[2.00]

46.6
[1.83]

55.0
[2.17]

203.2
[8.00]

25.4
[1.00]

165.1
[6.50]

188.0
[7.40]

213.9
[8.42]

97.5
[3.84]

101.6
[4.00]

165.1
[6.50]

31.8
[1.25]

381.0
[15.00]

31.8
[1.25]

1

2

3
4

5

6

2

1

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS LATCH ASSEMBLY, 
CHANGED DESCRIPTION OF ITEMS 1 THRU 6 IN 
PARTS LIST, DRAWING NUMBER WAS 2921-750 - 
DIMENSION 444.5 [17.50] WAS 450.9 [17.75], 279.4 
[11.25] WAS 285.8 [11.25], AND 31.8 [1.25] WAS 34.9 
[1.38]

12/5/2013 DW

A

A

A

41.28
[1.625]

176.2
[6.94]

A A

A

A



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-351 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED
LOWER ANCHOR BASE TUBE

0.5:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 8/13/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:
 ±1/64      X ±1    ±.5
          X.X ±.5
         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel

VEHICLE RESEARCH
and TEST CENTER

DESIGNER
Mike Vanvoorhis 11/5/2012

 

 

Lower Anchor_Part1.ipt

425.5
[16.75]

50.8
[2.00]

50.8
[2.00]

3.2
[0.13]
(TYP.)

MATERIAL: T.S.2" x 2" x 1/8" x 425.5mm (16.75")

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A
DRAWING TITLE WAS LATCH BASE TUBE, 
DRAWING NUMBER WAS 2921-751 - DIMENSION 
425.5 [16.75] WAS 431.8 [17.00]

12/5/2013 DW

A

A

A



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-352

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LOWER ANCHOR VERTICAL TUBE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

8/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64      X ±1    ±.5 
          X.X ±.5

         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Generic

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mioke Vanvoorhis

11/5/2012

 

 

Lower Anchor_Part2.ipt

114.3

[4.50]

50.8

[2.00]

50.8

[2.00]

3.1

[0.12]

(TYP.)

MATERIAL: T.S. 2" x 2" x 1/8" x 114.3mm (4.5")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS LATCH VERTICAL TUBE, 

DRAWING NUMBER WAS 2921-752

12/5/2013 DW

A



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-353

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LOWER ANCHOR BASE TUBE END

CAP

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/10/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

ATROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64      X ±1    ±.5 
          X.X ±.5

         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Lower Anchor_Part5.ipt

50.8

[2.00]

50.8

[2.00]

9.5

[0.38]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS LATCH BASE TUBE END CAP, 

DRAWING NUMBER WAS 2921-753

12/6/2013 DW

A

MATERIAL: BAR 50.8 (2") x 9.5 (3/8") x 50.8 (2")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-354

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LOWER ANCHOR LOWER

ATTACHMENT PLATE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave walker

12/10/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64      X ±1    ±.5 
          X.X ±.5

         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Lower Anchor_Part4.ipt

50.8

[2.00]

46.6

[1.83]

55.0

[2.17]

152.4

[6.00]

25.4

[1.00]

50.8

[2.00]

9.5

[0.38]

2X 13.5 THRU

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS LATCH LOWER ATTACHMENT 

PLATE, DRAWING NUMBER WAS 2921-754

12/6/2013 DW

A

MATERIAL: BAR 50.8 (2") x 9.5 (3/8") x 152.4 (6")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-355

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LOWER ANCHOR BELT ATTACHMENT

PLATE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/10/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64      X ±1    ±.5 
          X.X ±.5

         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Lower Anchor_Part3.ipt

222.3

[8.75]

50.8

[2.00]

9.5

[0.38]

177.8

[7.00]

203.2

[8.00]

2X 1/2-13 UNC  THRU

19.1

[0.75]

25.4

[1.00]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS LATCH BELT ATTACHMENT 

PLATE, DRAWING NUMBER WAS 2921-755

12/6/2013 DW

MATERIAL: BAR 50.8 (2") x 9.5 (3/8") x 222.3 (8 3/4")



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-356

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LOWER ANCHOR, ANCHOR ROD

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

8/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64      X ±1    ±.5 
          X.X ±.5

         X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

 

 

Lower Anchor_Part6.ipt

98.4

[3.88]

57.2

[2.25]

R6.4

[0.25]

MATERIAL: BAR Ø6.4 (Ø 1/4") x 266.0 (10 1/2")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DRAWING TITLE WAS LATCH ANCHOR ROD, 

DRAWING NUMBER WAS 2921-756

12/6/2013 DW



 SECTION A-A 

SCALE 1 / 2

A

A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0

2921-360

C

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH SEAT PANEL

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/22/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DESIGNER

Bench_Seat_Panel.ipt

15.5

[0.61]

50.9

[2.00]

80.0

[3.15]

205.0

[8.07]

356.0

[14.0]

9X 0.281"  THRU

15.5

[0.61]

15.5

[0.61]

15.0

[0.59]

50.0

[2.0]

113.5

[4.47]

3.2

[0.13]

421.0

[16.57]

R3.2

[0.13]

R5.8

[0.23]

R3.2

[0.13]

15.2°

14.0

[0.55]

375.0

[14.76]

14.0

[0.55]

693.0

[27.28]

175.0

[6.89]

SLOT DEPTH

41.0

[1.61]

145.0

[5.71]

299.0

[11.77]

514.0

[20.24]

648.0

[25.51]

15.0

[0.59]

40.0

[1.57]

15.0

[0.59]

40.0

[1.57]

195.0

[7.68]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A ADDED SLOT 4/18/2012 DW

 B
REMOVED SLOT; COMPLETE REDESIGNED

12/12/2012 DW

 C DRAWING NUMBER WAS 2921-202 12/12/2013 DW

2X 0.281"  THRU

693.0

[27.28]

54.0

[2.13]

639.0

[25.16]

677.5

[26.67]

71.7

[2.82]

3X 0.281"  THRU

MATERIAL: PL 3.2 (1/8") x 614.5 (24 3/16") x 693 (27 5/16")



SECTION A-A

 

BOTTOM SEAT CUSHION COVER2921-37313

SEAT BOTTOM CUSHION2921-37212

SEAT BOTTOM CUSHION MTG. PLATE ASS'Y.2921-37111

DESCRIPTIONPART NUMBERQTYITEM

A A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-370

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BOTTOM SEAT CUSHION ASS'Y.

0.375:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGN

11/5/2012

Bottom_Seat_Cushion_Assembly.iam

500

695

139

1

3

2

15°

30 635 30

SEAT BOTTOM MTG. PLATE

35
TO SEAT BOTTOM

MTG. PLATE

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A REDESIGNED 12/11/2012 DW

 B DRAWING NUMBER WAS 2921-240 12/12/2013 DW



BOLT, HEX HD. 1/4-28 x 7/8"9000685V62

SEAT BOTTOM CUSHION MTG. PLATE2921-371-111

DESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-371

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

SEAT BOTTOM CUSHION MTG. PLATE ASS'Y.

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DRAWN

Seat_Bottom_Cushion_Mounting_Plate_Assembly.iam

635

[25.00 in]

376

[14.80 in]

55

[2.17 in]

15°

1

2

TACK

TYP.

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

REGESIGNED: REPLACED CAPTIVE NUTS WITH 

HEX HEAD BOLTS

12/11/2012 DW

 B DRAWING NUMBER WAS 2921-232 12/12/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-371-1

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

SEAT BOTTOM CUSHION MTG. PLATE

1:2

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

DESIGNER

Mike Vanvoorhis

11/5/2012

Seat_Bottom_Cushion_Mounting_Plate.ipt

6X 0.281"  THRU

376.0

[14.80]

55.0

[2.17]

2.0

[0.08]

15°

55.0

[2.17]

45.0

[1.77]

380.0

[14.96]

45.0

[1.77]

240.5

[9.47]

635.0

[25.00]

25.0

[0.98]

317.5

[12.50]

610.0

[24.02]

10.0

[0.39]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A REDESIGNED 12/10/2012 DW

 B DRAWING NUMBER WAS 2921-371-1 12/12/2013 DW

MATERIAL: PL 14 Ga. x 635.0 (25") x 431.0 (16 15/16")



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-372

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

SEAT BOTTOM CUSHION

0.375:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENG

Dave Walker

2/23/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Seat_Bottom_Cushion.ipt

15°

500

[19.69]

15°

135

[5.31]

50

[1.97]

145

[5.71]

695

[27.36]

SEE NOTES

NOTES:

 

1. MATERIAL: POLYURETHANE FOAM OR EQUIVALENT

                        DENSITY ACCORDING TO ISO 485 43kg/m

3

 

              BEARING STRENGTH ACCORDING TO ISO 2439B

p - 25% 125 N

p - 40% 155 N

    BEARING STRENGTH FACTOR ACCORDING TO ISO 3386 4 kP

    ELONGATION AT RUPTURE ACCORDING TO ISO 1798 18%

    BREAKING STRENGTH ACCORDING TO ISO 1798 100 kPa

    COMPRESSION SET ACCORDING TO ISO 1856 3%

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A REDESIGNED 2/23/2012 DW

 B

DRAWING NUMBER WAS 2921-231, REMOVED 

NOTCHES, ADDED "OR EQUIVALENT" TO MATERIAL 

NOTE

12/12/2013 DW

85

[3.35]

25

[0.98]

397

[15.63]

30

[1.18]

B

B



SECTION A-A

SCALE 1 / 2

A A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

D

2921-373

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SID IMPACT SLED

BOTTOM SEAT CUSHION COVER

0.375:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

SEE NOTES

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DESIGNER

Bottom_Seat_Cushion_Cover.ipt

500

138

1 MATERIAL THICKNESS

NOTES:

MATERIAL: POLYACRYLATE FIBER OR EQUIVALENT

SPECIFIC MASS: 290 g/m²

BREAKING STRENGTH ACCORDING TO DIN 53587

ON TEST SPECIMEN 50 mm WIDE:

LENGTHWISE: 120 kg

BREATHWISE: 80 kg

 

55

348

640

6X 9.50 THRU

BOTTOM SIDE ONLY

50

111

10

695

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

REDESIGNED; REMOVED SLOTS, RELOCATED 

HOLES

12/11/2012 DW

 B

DRAWING NUMBER WAS 2921-241, ADDED "OR 

EQUIVALENT" TO MATERIAL NOTE

12/12/2013 DW

B



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-380

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BENCH SEAT BACK PANEL

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/22/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Bench_Seat_Back_Panel.ipt

38.1

[1.50]

3.2

[0.13]

R3.2

[0.13]

520.0

[20.47]

56.0

[2.20]

262.0

[10.31]

492.6

[19.39]

81.0

[3.19]

396.0

[15.59]

12X 0.281  THRU

19.0

[0.75]

681.0

[26.81]

700.0

[27.56]

70.0

[2.76]

350.0

[13.78]

630.0

[24.80]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A
DIMENSION 520 WAS 524.5; RELOCATED HOLES

12/12/2012 DW

 B DRAWING NUMBER WAS 2921-211 12/12/2013 DW

MATERIAL: PL 3.2 (1/8") x 552.8 (21 3/4") x 700.0 (27 9/16")



SECTION A-A

AA

SEAT BACK CUSHION COVER2921-39313

SEAT BACK CUSHION2921-39212

SEAT BACK CUSHION MTG. PLATE ASS'Y.2921-39111

DESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-390

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

SEAT BACK CUSHION ASS'Y.

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DESIGNER

Seat_Back_Cushion_Assembly.iam

425

[16.7]

670

[26.4]

1

3

2

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DIMENSION 425 WAS 504 AND 670 WAS 704 2/24/2012 DW

 B DRAWING NUMBER WAS 2921-245 12/12/2013 DW

A

A



BOLT, HEX HD. 1/4-28 x 7/8"9000685V62

SEAT BACK CUSHION MTG. PLATE2921-391-111

DESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-391

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

SEAT BACK CUSHION MTG. PLATE ASS'Y.

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DESIGNER

Seat_Back_Cushion_Mounting_Plate_Assembly.iam

615

[24.21 in]

385

[15.16 in]

2

[0.08 in]

1

TACK

TYP.

2

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DIMENSION 615 WAS 700 AND 385 WAS 500; 

REPLACED CAPTIVE NUTS WITH HEX HEAD BOLT

12/11/2012 DW

 B DRAWING NUMBER WAS 2921-234 12/12/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-391-1
B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

SEAT BACK CUSHION MTG. PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DESIGNER

Seat_Back_Cushion_Mounting_Plate.ipt

6X 0.328"  THRU

2

[0.08 in]

27.5

[1.08 in]

307.5

[12.11 in]

587.5

[23.13 in]

615

[24.21 in]

385

[15.16 in]

35

[1.38 in]

350

[13.78 in]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DIMENSION 615 WAS 700 AND 385 WAS 500; 

REARRANGED HOLES

12/11/2012 DW

 B DRAWING NUMBER WAS 2921-391-1 12/12/2013 DW

MATERIAL: PL 14 Ga. x 385.0 (15 3/16") x 587.5 (23 1/8")



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-392

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

SEAT BACK CUSHION

1:2

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

SEE NOTES

VEHICLE RESEARCH

and TEST CENTER

Mike Vnvoorhis

11/5/2012

DESIGNER

Seat_Back_Cushion.ipt

660

[25.98 in]

420

[16.54 in]

70

[2.76 in]

NOTES:

 

MATERIAL: POLYURETHANE FOAM OR EQUIVALENT

DENSITY ACCORDING TO ISO 485 43 kg/m

3

BEARING STRENGTH ACCORDING TO ISO 2439B

p - 25% 125 N

p - 40% 155 N

BEARING STRENGTH FACTOR ACCORDING TO ISO 3386 4 kPa

ELONGATION AT RUPTURE ACCORDING TO ISO 1798 18%

BREAKING STRENGTH ACCORDING TO ISO 1798 100 kPa

COMPRESSION SET ACCORDING TO ISO 1856 3%

REVISION HISTORY

ZONE REV DESCRIPTION TODAY'S BY

 A

DIMENSION 420 WAS 500, 660 WAS 700 AND 70 

WAS 73

12/11/2012 DW

 B

DRAWING NUMBER WAS 2921-233, ADDED "OR 

EQUIVALENT" TO MATERIAL NOTE

12/12/2013 DW

B



SECTION A-A

SCALE 1 / 2

A A

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-393

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

SEAT BACK CUSHION COVER

0.375:1`

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

SEE NOTES

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DESIGNER

Seat_Back_Cushion_Cover.ipt

670

[26.4]

425

[16.7]

75

[3.0]

6X 10  BOTTOM

SIDE ONLY

NOTES:

MATERIAL: POLYACRYLATE FIBER OR EQUIVALENT

SPECIFIC MASS: 290 g/m²

BREAKING STRENGTH ACCORDING TO DIN 53587

ON TEST SPECIMEN 50 mm WIDE:

LENGTHWISE: 120 kg

BREATHWISE: 80 kg

 

1

[0.03]

MATERIAL THICKNESS

615

[24.2]

55

[2.2]

335

[13.2]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DIMENSION 425 WAS 504, 670 WAS 704 AND 75 

WAS 78; REARRANGE HOLES

12/12/2012 DW

 B

DRAWING NUMBER WAS 2921-246, ADDED "OR 

EQUIVALENT" TO THE MATERIAL NOTE

12/19/2013 DW

A



 VIEW A-A 

 SECTION B-B 

SCALE 1 : 1

A

A

SCREW, FHCS #10-32 x 1/29000206144

ANTI-REBOUND SLIDER PLATE2921-39813

ANTI-REBOUND SLIDER BASE2921-39712

RAIL BEARING MOUNT PLATE2921-39611

DESCRIPTIONPART NUMBERQTYITEM

B B

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

13

13

14

14

15

15

16

16

A A

B B

C C

D D

E E

F F

G G

H H

I I

J J

K K

L L

A0

2921-395

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BEARING MOUNT PLATE ASS'Y.

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/24/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

11/5/2012

DESIGNER

Rail Bearing Mount Plate Assembly.iam

490.0

[19.29]

787.0

[30.98]

9.0

[0.35]

12.7

[0.50]

1/4"

TYP.

194.2

[7.65]

101.6

[4.00]

194.2

[7.65]

1

2

3

4

21.7

[0.85]

3

2

1

45° CHAMFER

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-119 12/12/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-396

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

RAIL BEARING MOUNT PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

4/17/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Rail_Bearing_Mount_Plate.ipt

787.0

[30.98]

490.0

[19.29]

275.0

[10.83]

327.0

[12.87]

648.0

[25.51]

700.0

[27.56]

45.0

[1.77]

445.0

[17.52]

10X 3/8-16 UNC - 2B  THRU

9.0

[0.35]

9.0

[0.35]

81.0

[3.19]

409.0

[16.10]

481.0

[18.94]

90.0

[3.54]

684.5

[26.95]

90.0

[3.54]

400.0

[15.75]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A COMPLETE REDESIGN 4/17/2012 DW

 B DRAWING NUMBER WAS 2921-220 12/12/2013 DW

48.9

[1.93]

177.0

[6.97]

325.0

[12.80]

524.0

[20.63]

724.0

[28.50]

16X M8x1.25  THRU

MATERIAL: PL 9.0 (3/8") x 481.0 (18 15/16") x 787.0 (30 15/16")



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-397

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

ANTI-REBOUND SLIDER BASE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

4/17/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

1018 Steel

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Anti_Rebound_Slider_Base.ipt

19.1

[0.75]

82.6

[3.25]

101.6

[4.00]

31.8

[1.25]

723.9

[28.50]

6 SPC'S. @ 120.62

 [4.75]

 = 

787.4

[31.00]

14X #10-32 UNF   THRU

6.4

[0.25]

MATERIAL: PL 6.4 (1/4") x 101.6 (4") x 787.4 (31")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-221 12/12/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-398

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

ANTI-REBOUND SLIDER PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

4/17/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

   X  ±1   ±0.5 
X.X  ±.5

X.XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Acetal Resin, White

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Anti_Rebound_Slider_DelrinSurface.ipt

19.1

[0.75]

82.6

[3.25]

101.6

[4.00]

31.8

[1.25]

723.9

[28.50]

6 SPC'S. @ 120.62

 [4.75]

 = 

781.1

[30.75]

6.4

[0.25]

6.4 X 45° CHAMFER

0.25" THRU

 0.41" x 82°

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-222 12/12/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2 2921-400 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

ANTI-REBOUND FIXTURE ASS'Y.

0.5:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 12/5/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OFAPPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:
 ±1/64     .X ±.1    ±.5
          .XX ±.01
         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

STEEL

VEHICLE RESEARCH
and TEST CENTER

DESIGNER

Mike Vanvoorhis 11/5/2012

NUT, HEX LOCK 5/8"-11, NYLON-INSERT9005215V110
WASHER, FLAT 5/8", TYPE A9000300V19
WASHER, NEOPRENE RUBBER 5/8" SCREW SIZE, 1-5/16" OD, 
.375" THICK

9003745V18

SCREW, FHCS 5/8-11 x 3 1/2"9000160V17
MUSIC WIRE PRECISION COMPRESSION SPRING, 
ZINC-PLATED, 1.75" LGTH., .60" OD, .067" WIRE

3000105V46

SCREW, SHSS 1/2" x 1 1/4"900005525
ANTI-REBOUND FIXTURE STOP PLATE2921-40414
ANTI-REBOUND FIXTURE GUIDE2921-40323
ANTI-REBOUND FIXTURE PIVOT BLOCK2921-40222
ANTI-REBOUND FIXTURE BASE PLATE2921-40111

DESCRIPTIONPART NUMBERQTYITEM

Anti_Rebound_Fixture_Assembly-01.iam

1

203.2
[8.00]

31.8
[1.25]

108.0
[4.25]

50.8
[2.00]

101.6
[4.00]

50.8
[2.00]

4

3

2

5

6

8 9 10

400.1
[15.75]

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-550 12/13/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-401

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

ANTI-REBOUND FIXTURE BASE PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±.5 
   .X  ±.5

   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel

VEHICLE RESEARCH

and TEST CENTER

11/5/2012

Mike Vanvoorhis

DESIGNER

Anti_Rebound_Fixture_Base.ipt

26.5

[1.05]

150.1

[5.91]

26.5

[1.05]

101.6

[4.00]

101.6

[4.00]

203.2

[8.00]

63.5

[2.50]

76.2

[3.00]

 19.1

[0.75"]

 = 

4 SPC'S. @

63.5

[2.50]

25.4

[1.00]

76.2

[3.00]

304.8

[12.00]

3 SPC'S. @ 101.6

[4.0"]

 = 

9.5

[0.38]

133.4

[5.25]

8X 12.7 THRU

28.4 THRU

5X 15.2 THRU

400.1

[15.75]

MATERIAL: PL 9.5 (3/8") x 203.2 (8") x 400.1 (15 3/4")

REVISION HISTORY

ZONE REV DESCRIPTION DATE DES

 A

DRAWING NUMBER WAS 2921-551, ADDED 

DIMENSION 400.1 [15.75]

12/13/2013 DW

A



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-402 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

ANTI-REBOUND FIXTURE PIVOT BLOCK

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 12/5/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
    X  ±1   ±.5
   .X  ±.5
   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel

VEHICLE RESEARCH
and TEST CENTER

11/5/2012Mike Vanvoorhis
DESIGNER

Anti_Rebound_Fixture_Pivot.ipt

12.7
[0.50]

25.4
[1.00]

25.4
[1.00]

50.8
[2.00]

12.7 THRU

25.4
[1.00]

MATERIAL: BAR 25.4 (1.0") x 25.4 (1.0") x 50.8 (2.0")

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-552 12/13/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-403 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

ANTI-REBOUND FIXTURE GUIDE

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 12/5/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
    X  ±1   ±.5
   .X  ±.5
   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH
and TEST CENTER

Mike Vanvoorhis
DESIGNER

Anti_Rebound_Fixture_Guide.ipt

25.4
[1.00]

50.8
[2.00]

9.5
[0.38]

25.4
[1.00]

MATERIAL: L2" x 2" x 3/8" x (25.4mm) 1.0"

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-553 2/13/2012 DW



 VIEW A-A 

1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-404 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

ANTI-REBOUND FIXTURE STOP PLATE

0.5:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 12/5/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:
    X  ±1   ±.5
   .X  ±.5
   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Steel, Mild

VEHICLE RESEARCH
and TEST CENTER

11/5/2012Mike Vanvoorhis
DESIGNER

A A

Anti_Rebound_Fixture_Stop.ipt

9.5
[0.38]

17.8
[0.70]

19.1
[0.75]

19.1
[0.75]

254.0
[10.00]

50.8
[2.00]

101.6
[4.00]

381.0
[15.00]

12.7
[0.50]

76.2
[3.00]

19.1
[0.75]

 = 
4 SPC'S. @

5X 0.63"   0.13

0.5" THRU
 1.25" X 82°

2X 3/8-16 UNC - 1.0

69.9
[2.75]

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-554 12/13/2013 DW

MATERIAL: PL 19.1 (3/4") x 101.6 (4") x 381.0 (15")



RUBBER BUMPER - 1 1/2" x 1" HT. - 5/16-18 THREADS x 5/8" LONG
3000505V13

BUMPER BASE EXTENSION2921-41212

BUMPER BASE2921-41111

DESCRIPTIONPART NUMBEQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-410

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LEFT SIDE BUMPER ASSEMBLY

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/3/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64     .X ±.1    ±.5 
          .XX ±.01

         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

LeftSide_Bumper.iam

69.9

[2.75]

44.5

[1.75]

12.7

[0.50]

76.2

[3.00]

152.4

[6.00]

266.7

[10.50]

1/8

90

1/8

90

1

2

3

85.7

[3.38]

160.0

[6.30]

REVISION HISTORY

ZONE REV DESCRIPTION DATE DES

 A DRAWING NUMBER WAS 2921-560 12/13/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-411

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

BUMPER BASE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/3/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64     .X ±.1    ±.5 
          .XX ±.01

         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Steel, Mild

Bumper_Base.ipt

MATERIAL: L5" x 3" x 1/2" x 0'-8" (203.2 mm)

44.5

[1.75]

69.9

[2.75]

152.4

[6.00]

76.2

[3.00]

69.9

[2.75]

101.6

[4.00]

25.4

[1.00]

55.6

[2.19]

41.3

[1.63]

55.6

[2.19]

63.5

[2.50]

5/16-18 UNC -  THRU

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-561 12/13/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2 2921-412 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

BUMPER BASE EXTENSION

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 12/3/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMAFOSETAT
S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:
 ±1/64     .X ±.1    ±.5
          .XX ±.01
         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

Mike Vanvoorhis
DESIGNER

11/5/2012

Steel, Mild

Bumper_Base_Extension.ipt

50.8
[2.00]

165.1
[6.50]

2X 3.2 X 45.0° CHAMFER

144.1
[5.67]

14.7
[0.58]

12.7 THRU [0.50 THRU]

12.7
[0.50]

MATERIAL: BAR 50.8 (2") X 12.7 (1/2") X 165.1 (6 1/2")

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-562 12/13/2013 DW



RUBBER BUMPER - 1 1/2" x 1" HT. - 5/16-18 THREADS x 5/8" LONG
3000505V13

BUMPER BASE EXTENSION2921-41212

BUMPER BASE2921-41111

DESCRIPTIONPART NUMBEQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-420

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

RIGHT SIDE BUMPER ASSEMBLY

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/3/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64     .X ±.1    ±.5 
          .XX ±.01

         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

RightSide_Bumper.iam

69.9

[2.75]

152.4

[6.00]

266.7

[10.50]

44.5

[1.75]

76.2

[3.00]

1/8

90

1/8

90

85.7

[3.38]

160.0

[6.30]

12.7

[0.50]

1

2

3

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-570 12/3/2012 DW



IMPACTOR ARMREST FOAM2921-50212

IMPACTOR DOOR FOAM2921-50111

DESCRIPTIONPART NUMBERQTYITEM

1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

9

9

10

10

11

11

12

12

A A

B B

C C

D D

E E

F F

G G

H H

A1

2921-500 B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR DOOR FOAM ASS'Y.

1:2

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/14/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLLIMETERS

TOLERANCES ARE:

DECIMAL:  ANGLES:  MACHINED:

 X ±1     ±0.5 
.XX ±.5

.XXX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Impactor Door Foam Assembly.iam

1

2

773

[30.4]

360

[14.2]

522

[20.5]

119

[4.7]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DIMENSION 773 WAS 774.7, 360 WAS 342.9, 522 

WAS 506.2 & 119 WAS 114.3

2/14/2012 DW

 B
DRAWING NUMBER WAS 2921-003, ADDED NOTE #1

12/13/2013 DW

NOTES:
 
1. SECURELY GLUE ITEM #2 - IMPACTOR ARMREST FOAM TO ITEM #1 - IMPACTOR DOOR FOAM AS SHOWN.

B



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-501

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR DOOR FOAM

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±.5 
   .X  ±.5

   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

SEE NOTES

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Impactor Door Foam.ipt

MATERIAL: Polyethylene Closed Cell Foam 2.2 PCF - SHT. 55 mm (2.2") x 773 mm (30.4") x 522 mm (20.6")

                   OR EQUIVALENT

773

[30.4]

70°

360

[14.2]

522

[20.5]

605

[23.8]

( )

105.5°

555

[21.9]

( )

55

[2.2]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DIMENSION 773 WAS 774.7, 360 WAS 342.9, 522 

WAS 506.2, (665) WAS 609.6, (555) WAS 539.8) & 55 

WAS 50.8

2/13/2012 DW

 B

DRAWING NUMBER WAS 2921-107; IN MATERIAL 

NOTE 55 mm WAS 55, Polyethylene Closed Cell Foam 

2.2 PCF WAS Polyethylene Ethafoam 220 & ADDED 

"OR EQUIVALENT"

12/13/2013 DW

A

A

A

A

A

B



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-502

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

IMPACTOR ARMREST FOAM

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±.5 
   .X  ±.5

   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

SEE NOTES

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Impactor Armrest Foam.ipt

MATERIAL: Crosslinked Polyethylene Closed Cell (XPLE) Foam 4 PCF, 63.5 (2.5") x 635 mm (25.0") x 280 mm (11.0")

                    OR EQUIVALENT

635

[25.0]

127

[5.0]

572

[22.5]

( )

64

[2.5]

232

[9.1]

( )

96°

105.5°

90.0°

64

[2.5]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A

DIMENSION 90.0 WAS 88.5, 96 WAS 97, (572) 

WAS 571.5, (232) WAS 216 & 64 WAS 63.5

2/13/2012 DW

 B

DRAWING NUMBER WAS 2921-108; IN MATERIAL 

NOTE Crosslinked Polyethylene Closed Cell (XPLE) 

Foam 4 PCF WAS EVA 4# XLPE FOAM & ADDED "OR 

EQUIVALENT"

12/13/2013 DW

280

[11.0]

B



1

1

2

2

3

3

4

4

5

5

6

6

7

7

8

8

A A

B B

C C

D D

E E

F F

A2

2921-600

B

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

HONEYCOMB

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

2/13/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DET
I

N
U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

 DECIMAL:  ANGLES:  MACHINED:

    X  ±1   ±.5 
   .X  ±.5

   .XX ±.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

Aluminum-6061

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Honeycomb.ipt

MATERIAL:  HONEYCOMB 3/8" CELL SIZE - .0015 FOIL GAGE - 

DENSITY: 2.3 PCF OR EQUIVALENT

127

[5.0]

342

[13.5]

305

[12.0]

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A
DIMENSION 127 WAS 170, 342 WAS 400

2/13/2012 DW

 B

DRAWING NUMBER WAS 2921-118, ADDED "OR 

EQUIVALENT" TO MATERIAL NOTE

12/13/2013 DW

B



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3 2921-700 A
SIZE

SHEET

DRAWING NUMBER REV

1 1 

CHILD SIDE IMPACT SLED

LIGHT TRAP MOUNT ASSEMBLY

1:1
SCALE:

APPROVALS
DRAWN

CHECKED

ENGINEER

Dave Walker 12/3/2012

NATIONAL HIGHWAY TRAFFIC
SAFETY ADMINISTRATION

NO
IT

AT

ROP
SNARTFOTNEMTRAPED

A
CI

REMA
FOSETAT

S

DE
TI

N
U

OF
APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED
DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:
 ±1/64     .X ±.1    ±.5
          .XX ±.01
         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH
and TEST CENTER

Mike Vanvoorhis
DESIGNER

11/5/2012

LIGHT TRAP MOUNT ANGLE2921-70212
LIGHT TRAP MOUNT BASE PLATE2921-70111

DESCRIPTIONPART NUMBERQTYITEM

Light Trap Mount Assembly.iam

25.4
[1.00]

31.8
[1.25]

92.1
[3.63]

203.2
[8.00]

101.6
[4.00]

60.3
[2.38]

25.4
[1.00]

152.4
[6.00]

1

2

REVISION HISTORY
ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-1000 12/13/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-701

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LIGHT TRAP MOUNT BASE PLATE

0.5:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/3/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN INCHES

TOLERANCES ARE:

FRACTION:  DECIMAL:  ANGLES:  MACHINED:

 ±1/64     .X ±.1    ±.5 
          .XX ±.01

         .XXX ±.005

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Steel, Mild

Light Trap Base Plate.ipt

25.4

[1.00]

152.4

[6.00]

25.4

[1.00]

203.2

[8.00]

41.3

[1.63]

60.3

[2.38]

101.6

[4.00]

2X 19.0(0.75") THRU

12.7

[0.50]

MATERIAL: BAR 101.6 (4") x 12.7 (1/2") x 203.2 (8")

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-1001 12/3/2012 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-702

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LIGHT TRAP MOUNT ANGLE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/19/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

DECIMAL:    ANGLES:  MACHINED:

 X   ±1     ±.5 
 X.X  ±0.5

 X.XX ±0.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Steel, Mild

Light Trap Bracket.ipt

MATERIAL: L2"(50.8 mm) x 2"(50.8 mm) x 1/4"(6.4 mm) x 0'-3"(76.2 mm)

19.1

[0.75]

76.2

[3.00]

25.4

[1.00]

50.8

[2.00]

50.8

[2.00]

50.8

[2.00]

6.4

[0.25]

(TYP.)

9.5(0.38") THRU

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-1002 12/13/2013 DW



1

1

2

2

3

3

4

4

5

5

6

6

A A

B B

C C

D D

A3

2921-702

A

SIZE

SHEET

DRAWING NUMBER REV

1 

1 

CHILD SIDE IMPACT SLED

LIGHT TRAP MOUNT ANGLE

1:1

SCALE:

APPROVALS

DRAWN

CHECKED

ENGINEER

Dave Walker

12/19/2012

NATIONAL HIGHWAY TRAFFIC

SAFETY ADMINISTRATION

NO
IT

AT

ROPSNARTFOTNEMTRAPED

A
CI

REMA
FOSETATS

DETI
N

U

OF

APPROVED

DATE

MATERIAL

HEAT TREAT

FINISH

UNLESS OTHERWISE SPECIFIED

DIMENSIONS ARE IN MILLIMETERS

TOLERANCES ARE:

DECIMAL:    ANGLES:  MACHINED:

 X   ±1     ±.5 
 X.X  ±0.5

 X.XX ±0.15

ASME Y14.5M - 1994

DO NOT SCALE DRAWING

125

VEHICLE RESEARCH

and TEST CENTER

Mike Vanvoorhis

DESIGNER

11/5/2012

Steel, Mild

Light Trap Bracket.ipt

MATERIAL: L2"(50.8 mm) x 2"(50.8 mm) x 1/4"(6.4 mm) x 0'-3"(76.2 mm)

19.1

[0.75]

76.2

[3.00]

25.4

[1.00]

50.8

[2.00]

50.8

[2.00]

50.8

[2.00]

6.4

[0.25]

(TYP.)

9.5(0.38") THRU

DRAFT DELIBERATE

 FOR GOVERNMENTAL USE ONLY

REVISION HISTORY

ZONE REV DESCRIPTION DATE BY

 A DRAWING NUMBER WAS 2921-1002 12/13/2013 DW


	Child Side Impact Sled - Dec 2013

	2921-000 - Child Side Impact Sled Complete Ass'y.

	2921-001 Sht. 1 of 2 - Child Side Impact Sled Ass'y.

	2921-001 Sht. 2 of 2 - Child Side Impact Sled Ass'y.

	2921-100 - Base Plate

	2921-200 - Impactor Frame & Stop Ass'y.

	2921-201 - Impactor Base Plate
	2921-210 - Impactor Stop Assembly
	2921-220 - Impact Stop Frame Assembly
	2921-221 - Impactor Stop Face Plate
	2921-222 - Impactor Stop Side Gusset Plate
	2921-223 - Impactor Stop Center Gusset Plate

	2921-224 - Impactor Stop Support Plate

	2921-225 - Impactor Stop Mech. Tube

	2921-226 - Impactor Stop Tube End Plate


	2921-230 - Honeycomb Frame Assembly

	2921-231 - Honeycomb Frame Base Plate

	2921-232 - Honeycomb Frame Extension Tube

	2921-233 - Honeycomb Frame Back Plate

	2921-234 - Honeycomb Frame Honeycomb Support Plate

	2921-235 - Honeycomb Frame Bumper Tube

	2921-236 - Honeycomb Frame Bumper Tube End Cap

	2921-237 - Honeycomb Frame Gusset Plate



	2921-240 - Impactor Frame Assembly

	2921-241 - Impactor Frame Tubes

	2921-242 - Impactor Support Plate

	2921-243 - Impactor Door Plate



	2921-250 - Linear Rail Ass'y.

	2921-251 - Rail Mtg. Plate

	2921-252 - Linear Rail


	2921-300 - Bench Assembly

	2921-310 Sht. 1 of 3 - Bench Seat Assembly

	2921-310 Sht. 2 of 3 - Bench Seat Assembly

	2921-310 Sht. 3 of 3 - Bench Seat Assembly

	2921-311-1 Thru 8 - Bench Frame Tubes 1 Thru 8

	2921-311-9 - Bench Frame Tube #9 Ass'y.

	2921-312 - Bench Base Mtg. ANgle

	2921-313 - Bench Bearing Support Plate

	2921-314 - Bench Center Bearing Support Plate

	2921-315 - Bench Upper Belt Mtg. Tube

	2921-318 - Bench Lower Anchor Mtg. Angle

	2921-319 - Bench Cross Brace Plate

	2921-321 - Bench Top Anchor Brace Plate

	2921-322 - Bench Stop Plate

	2921-326 - D-Ring Upper Anchor

	2921-327 - D-Ring Lower Anchor Mtg. Angle

	2921-328 - D-Ring Lower Anchor

	2921-329 - D-Ring Lower Anchor Plate

	2921-330 - D-Ring Lower Anchor Threaded Rod


	2921-331 - Light Trap Vane


	2921-340 - Top Tether Anchor

	2921-350 - Lower Anchor Assembly

	2921-351 - Lower Anchor Base Tube

	2921-352 - Lower Anchor Vertical Tube

	2921-353 - Lower Anchor Base Tube End Cap

	2921-354 - Lower Anchor Lower Attachment Plate

	2921-355 - Lower Anchor Belt Attachment Plate

	2921-356 - Lower Anchor, Anchor Rod 

	2921-360 - Bench Seat Panel

	2921-370 - Bottom Seat Cushion Ass'y.

	2921-371 - Seat Bottom Cushion Mtg. Plate Ass'y.

	2921-371-1 - Seat Bottom Cushion Mtg. Plate


	2921-372 - Seat Bottom Cushion

	2921-373 - Bottom Seat Cushion Cover


	2921-380 - Bench Seat Back Panel

	2921-390 - Seat Back Cushion Ass'y.

	2921-391 - Seat Back Cushion Mtg. Plate Ass'y.

	2921-391-1 - Seat Back Cushion Mtg. Plate


	2921-392 - Seat Back Cushion

	2921-393 - Seat Back Cushion Cover


	2921-395 - Bearing Mount Plate Ass'y.

	2921-396 - Rail Bearing Mount Plate

	2921-397 - Anti-Rebound Slider Base

	2921-398 - Anti-Rebound Slider Plate



	2921-400 - Anti-Rebound Fixture Ass'y.

	2921-401 - Anti-Rebound Fixture Base Plate

	2921-402 - Anti-Rebound Fixture Pivot Block

	2921-403 - Anti-Rebound Fixture Guide

	2921-404 - Anti-Rebound Fixture Stop Plate


	2921-410 - Left Side Bumper Assembly

	2921-411 - Bumper Base

	2921-412 - Bumper Base Extension


	2921-420 - RIght Side Bumper Assembly

	2921-500 - Impactor Door Foam Ass'y.

	2921-501 - Impactor Door Foam

	2921-502 - Impactor Armrest Foam


	2921-600 - Honeycomb

	2921-700 - Light Trap Mount Assembly

	2921-701 - Light Trap Mount Base Plate 
	2921-702 - Light Trap Mount Angle







